a - MG X 1.0
] ,\ Base Thread
| c [ (©
***** R B
| ; | )
— |
=R
M6 Set Screw
b w/Nylon Tip

@3/4" ALUMINUM PROJECTING STANDOFF / PANEL SUPPORT

Part # Diameter (a) Length (b) Panel Thickness () | Space from Wall (d)
WSP2022  20mm (3/4") 22mm (7/8") 47mm (5/32"-1/4") | 8mm (5/16")
-7mm Base InnerThread = Mount Screw Size | Load Limit Finish
M6x 1.0 No. 8 screw 6.8kg (15Ib)each | Clear Anodized
or M6 stud *Subject to fixing




